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Question 10
R Calculate the standard enthalpy of formation of PCls(g) in k/mol .
answered 12Pys) + 5Clylg) — 2PCl(g) AH=-T49.8 k)
"-’“"‘Eﬂ out of Note: mos! stable form of P element is Ps(s).
b1

\" Flag Select cne:
Question oy

1 a -150.0

b, -187.3

 p.-T29.8

1 d. 0.0

T @ -374.9
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What is the enthalpy (in kJ) of the following reaclion at constant pressura?
CqHylg) + H0(@) — CaHyO(g)

Use the following thermochemical equations:

4C(s) + 4H(a) — CaHgg) AH==T1k
aC(s) + 5Hy(g) + 40;(9) —  CaHicOla) AH = -202.8 kJ
2H,(g) + O2(g) = 2H20(9) AH =-483.6kJ

Selac! ona:
a -783.5

fp, +197 9
c. -183.7
d. -527.5

o, -43.9
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it yet
iswered

arked out of
5

- Flag

uestion

Previous page

Calculate the rms speed (in m/s ) of He (molar mass = 4.0 g/mol) molecules in a cylinder at 27 °C and 8.7 atm.
R = 0.082 atm.LUmol.K or 8.314 kg-m?s*K:mol

Selecl one: |
D a. 428 |
D b.128
' €.136.0
D d, 1367.7
e. 406.0
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Queston s
: The volurme of cortan amount of nitrogen at 23°C and 746 mmHg is 10.1 cm” What is the volume of ntrogen at 20 “C and -
Mot yet "
] 780 mmHg .
Selact 1
:.i:udmol L Il—.
¥ Flg L Al =
AT 1 b829
Tir
"¢ 108
d 123
o 0835

Naox! pags
Previous page -
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Question 5 Quiz n
i I.EE tﬁ;agmng o calculate the mass of CO,(g) would be obtained if the reaction released 369 kJ of heat. Molar mass of T3
eoirnd 2 = 44.0 g/mol |
:!;rl.r.'dmn of CaHy(g) + 5 04(g) — 3COyg) +4 H,0(g) AH=-2043 kJ ﬁu:‘: =,
V" Flag =
oaieh Select one: oah
la 244 q Tirna lft

b 440g

c238qg

d 795q

a 2659

Provious page
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Home  Mycourses  GENERALCHEMISTRY If ~asd s Cham. 101 Exams mmrﬂnﬂm

s How many milllliters of 0165 M aluminum chioride (AIC1;) are required to react complately with 350 mé of D210
::r::m M silver nitrate (AgNG,)? The net ionie equation ls:
Mared out of Ag*(ag) + Ci (og) ---» agCis)
20
I Flog
Syt Salect one
18 mi

276 mi

lagme

318 ml

23.3 mit
Pravvious poge hant poge
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Home  Mycoursos  GENERAL CHEMISTRY If e ses chem. 101Exoms  Chem. 101 Final Exom

e What is the potentiol enargy volus (in ki/me) obiined via comixning Rb® lons ond Br" ions 1O Eonm womc
et o

anieeind bonds?

Mg riosdt ol of k= BESn0PdmfC? e=16M0"C

e Avogadio Ne, = €022 2 105

¥ hag

quesion Thia distance Detwean g = 3250 nm

Sl ore
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M
. In a constant valume mlori@w. a 0.877 g of pentane (CsHyz) are bumed, the calorimeter temperature nises from 25.00 °C
S e to 27.29 °C. The heat capacity of the calorimeter and its contents was 20.7 kJ/ °C. [
Markad out of What is the enthalpy of combustion for one mole of pentane? Molar mass of CsH,; = 72.15 g/mol [
15
Y Flag
;e ol Select one: :
'a-35010 Ti
b. - 4.000 x 10*
I G -0.6414
d.- 4740
o -554 0



Cuestion B

Mot yet
atrweiod

filarkad ouf ol
15

¥ Flag
guestion

Provious page

A 0,550 gram of volatiie liquid was vaponzed al 96 °C and oxpanded in 200 mi flask at 800 mmig. Calculate the motar masa

ol this liquud in gimol

R = 0.082 atm L'mol K or B34 kg-mis™ K mol

Select one!
a B4a9
b 7B
¢ 607
d 081

@ 130
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Home  Mycourses  GENERALCHEMISTRY If ol ge Chem. 101 Goms | Chem. 101 Final Exam

- — —

il Py 2 Tl e N, =

2!_",'“"”.” o Calculate the change in internal enevgy (kJ/mol) when 4 moles of NHy(g) ore converted to 4 moles of NG{g) at
skl atm, and 25°C.

Markact out of aNHy(g) + 50;(g) -=» aNO(g) + EH;0(g) &M = -906 kJ/mol

0 R= D.0B21 Latm/malx or 8314 J/Kmol
¥ g
Quartlioh
Select oni

-G08 4B

= 849 3]

= Q1087

- G0 14

- 41140




If 954.0 mL of nitrogen gas,
measured at 488.9 mmHg and
22.3°C, reacts with excess
lodine according to the
following reaction, what mass
of nitrogen triiodide (molar
mass=394.72) is produced? (1
atm=760 mmHg and K= °C +
273)

Na(g) + 3l(s) — 2NIx(s)

Select one:
O a.1330g

O b.433¢g
O c.665g
O d.200g

() 2o 222~



Which of the following gases
has the greatest density at 2.5
atm and 25°C? (Molar masses
for C=12.0, H=1.01, N=14.0, O=
16.0, S=3211, and F=19.0 g/mol)

Select one:
O a. NF3

O b.CgHy4
O c.C/Hg
O d.N,O
O e.CS,



When 27.6 mL of 0.870 M
lead(ll) nitrate reacts with
90.0 mL of 0.777 M sodium
chloride, 0.279 kJ of heat is
released at constant

pressure. What is AP for this
reaction?

Pb(NO3).(aq) + 2NacCl(aqg) — P
bCl,(s) + 2NaNO3(aq)

Select one:
© a.69.7kJ

O b.N6kJ
O c.17.4 kJ
O d.-n.6kJ
O e.-697kJ
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Mo

q-.h-m 24
Moyt
e el

Markend ol o

¥ llog
muestion

Mycourses  GENERALCHEMISTRY |/ v ges  Chem. 101 (xoms  Chem. 101 final taom

This average spaed of nitogun gos (8, 28 gfmol) that #tuses ol 300 'C is 700 m[s The OweDge tpeed Of
which butens gas (C 4y, 56 gfmol) effuses ot 1w sarme tempetotute

Sasleri’} o
36 m(s
SBims
Mibmls
265 /s

ELT-RT T



When 27.6 mL of 0.870 M
lead(ll) nitrate reacts with
90.0 mL of 0.777 M sodium
chloride, 0.279 kJ of heat is
released at constant

pressure. What is AAP for this
reaction?

Pb(NO3),(ag) + 2Naci(ag) — P
bCl,(s) + 2NaNOs(aq)

Select one:
O a.69.7kJ

O b.16kJ
O c.17.4 kd
O d.-16kJ
O e.-697kJ



Substance

AP+ (kJ/mol)

coAg)

=3935

H20() -

-2858

Sclect one:
) a.-528kJ
O b.-328kJ

J €.-428ky
d.-763 kJ

2. -8032 kJ

What is the standard enthalpy of formation of liquid n-butanol, CH3CH2CH,CH0H?
 CHCH,CH,CH,0H() + 80,(g) - 4CO(g) + 5H,0()

AR =-2675 kJ



What is the specific hest (in J/g *C) of s metal I i iakes 463 ] 10 rise
the tempersture of a 30.0 g sample of the clement by 3.00°C?

(m) 0444
(b) | .88
{c) 1.07
{d) 2.22
(e} 033}




a) NH;

b CH,OH

¢) LiOH

& CH O,
¢} CHADOH




Cormider the following resction:

2Ca+0,—-2Ca0D
The raducing agent in this renction Is:
(n) Ca
(b) O,
(0) Cal)
(d) O

(o) Ca'’




Cormider the following resction
Nl {ay) + ZnSO Lag) ~
The corvrect pef lonis canatine =

(n) Na’ +» 3 CT — BalY,
(b) Ra’ + 80,7 — Ha80,
() Zn'" +» SO0 = InSO,
(A} Zn'" » 2 C1 — Il
(e) 2 17 = 50,7 —« H S0,

o — e ——



123
537
3a7
276
404

Cakulsie AH® for the reaction: _
2 Brg(h + CHy(g) — C;H;Br(N

(a)=228 k)/mol
(b)-248 k)/mol
(c)-268 ki/mol
(d)-288 kJ/mol
(c)-308 kJ/mol




Whach one of the followmg substances 15 2 strong clectrolyte?

2) NH:

b CHOH
¢) LsOH

dy CH O,
¢} CHADOH




Chiven the following thermochemical agustsons.

2 HCNg) — Hylg) + Clyly) AM® = + |54 5 kol
2 Hylg) + % Nylg) + % Cliig) — NHCW)  AN® = -314.4 kivmol
NyGr) + 3 Hlgd — 2 NH iz) AH® = 462 ki/mel

Cakoul gz the standord snthalpy chaoge, AH°, (m Kimal) of the roxson

NH(g) + HClg) — NHCI)
(a) -176 .

(®) -199

(c) -222

(d) ~107

e} -60.7




Given the following standard enthalpies of formation: AH® [CO4{(g)] = -393.5
AH®[CH(g)]) = —481.5 iJ/mol and AH* {H,0(g)] = —241 B kl/mol.
the hent released (in kJ) for the reaclion of one mole of O,

according to this reaction:

CHy(g) + 2 Oyg) — COg) + 2 HiO®)
(a) =271.8 _
(b) -246.8
(c)—-231.8
(d) -216.8
(e) -196.8




mL of AgNO; solution 40.0
(AgNO3 = 169.9 g/ mol) of
unknown concentration was
found to give 1.50 grams of
AgCl (143.4 g/mol) upon
addition of excess sodium
chloride. What is the molarity
?0f the original AgNO; solution

ShLAN aad Al
a. 0.174 O
b. 0.209 O
c. 0.523 O
d. 0.349 O
e. 0.262 O



E ¥ Flag question ,
i TP T R P T o e e

How many grams Na (23.0 g/
mol) are present in 5.00 mL of

0.10 M solution NazSO4 (1421
g/ mol) ?

Select one:
() a.0.032

_) b. 0.051
) ¢.0.023

() d.0.060
) e.0.041



What is the total number of
electrons involved in the
following oxidation-
reduction reaction?

Mg(s) + HCl(aq) -->
MgClo(agq) + H2(9)
(Not balanced)

Select one:
< a.10
@ b.8

® c.2

< d 4

Clear my choice




How many grams of NaOH (molar
mass = 40.0 g/ mol) are required to
prepare 300.0 mL of 0.150 M
solution?

Select one:
" a.0.60

' b.1.80
c.1.20
 d.2.40
' e.3.00
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luesmna
- Which of the following pairs is: strong acid / weak base ?
yet
inswered
Varked out of
167 Select one:
¥ Flag J a.
SKiCR0n HC,H;0, / KOH
= D.
HCI/ NH;
J G,
HCN / NaOH
' d.
HNO, / Sr(OH);

i,
HBr/ Ca {DH }2

Previous page



What is the oxidation number of
n in MnO,"? ATTOWE. .JJ:&:

Select one:

Q a. +3

O b. +4
Q C. +7

© d. +6
© e. 45
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30.0 mL of AgNO; solution (AgNO;=169.9 g/ mol) of unknown concentration was found
to give 1.50 grams of AgCl (143.4 g/mol) upon addition of excess sodium chloride.
is the molarity of the original AgNO; solution?

Select one:
O a.0.209

O b.0.174
O c.0.349
O d. 0.523
O e. 0.262




How many moles of NH, will be
produced from the reaction of
0.40 mol N, with 1.0 mol of H,
according to the following
equation?

N, + 3H; -> 2NH,3

Select one:
© a.0.67

O b.0.80

Q c. 1.0
Q d. 1.67

Q e.1.33




What is the oxidation number of Br in BrO4"?

Select one:
O a +b

O b.#4
O c.+5
O d.43
O e. 47



Question 15
Not yet answered

Marked out of 1.00

¥ Flag question

30 mL of 0.710 M NaOH is

required to neutralize 10 mL of
H3P04. What is the molarity
of the H3P0O4 ?

Select one:
a.03imMm

b.0.9M
c. 01 M
d.015M

e. none of the above



A 280 ml sample of a 0.275 M
solution of nonvolatile solute is left on
a hot plate over night , the next day,
the solution has 1.10 M. What is the

volume of the solvent that has been
evaporated from the original solution?

Select one:
- a.58.0 ml

b. 77.0 ml
c.172 ml
d. 210 ml

e. more information are needed
since the solute may also
evaporate



What is the potential energy value
(in kJ/mol) obtained via combining
K* ions and F ions to form ionic
bonds?

k = 8.99 x10° J.mfcz e=16x10""°
C

Avogadro No. = 6.022 x 10%3

The distance between ions = 0.200
nm

Select one;
O 396

Q 513
© 462
O 554
© 693
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Hmmmllﬂmuwmsunlmhmnhmwmmmm . staly with 350 ML of 0210
M silver nitrate (AghO,)? ﬂwnitinriuqmlmnh: ,,‘_‘ LA, N i,[

Ag'(ag) + crinq} —-3 Agf.‘-i{s} R e Al e !

Seluct pne
S 1BImi

276 mi

_ lagmy
_ A mi,

233 ml



How mclny grams of NiSOa. 7H,0
1'* (280.86 g/mol) would be required
. to prepare 600 mLof a solution
*.,' that is 0.300 M in NisO4(aq) (154.76

gl moi)‘?

Seléldf one:

© 843g

O 67449 i

O 5069 .

Q 59.0g \

O 4219



The average speed of
nitrogen gas (N, 28 g/mol)
that effuses at 30.0 °C is 680
m/s. The average speed at
which butene gas (C4Hg, 56
g/mol) effuses at the same
temperature is:

Select one;
) 339 m/s

) 354 m/s
) 495 m/s
) 481 m/s
_ 396 m/s



. Calculate the change in internal energy (kJ/mot) when 4 moles of NHz(g) are converted to 4
moles of NO(g) at 4 atm. and 325°C.

4NH;(g) + 50,(g) --> 4NO(g) + 6H,0(g)  AH = -906 kJ/mol
R= 0.082] Latm/molK or 8.314 J/k:mol

Select one: e gy ;i?jl
O -91.80 | !. :‘:;.!E
O - 9093 Ay
O -910.97 e
O - 91014

O - 90848



